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The expression X2 i'eseinbles X in.' having the coefficients of the
various powers of X rational; for it is the H. C. M. of' X and -
Eence, deaoting A- by X.3, we have, from (6) and (7), d

(o-'(X-2,.(r-))=........... . (8)X3

where X3 , bein gthe quotient of X by Xz , must have the coefficients
of the various powers of iýç rational. Hlence bi , 2 , &c , may Le
exhibited as rational expressions. Thus the former of the two points
to Le proved in the Corollarýy is estab]ished. Neit, should f (p) Lo in
a simpl.e form, and should the numbers À, P3, &c., flot be ail equal to
one another, let À Le Iess than 8, and flot greater than any of the
ethers. Then, frora (8) and, (6), we have, putting X, te, denote the

À
quotient of X by X3 ,

(X02 ... (X-08s) =Xý '........................(9)
X4, Leing xational, Should the numbers, /3-À, S-À, &c.r flot Le ail
equaI toa one another, then,. exactly as we reduced equation (6) to
equation. (9y, on the left band side of which no power of (x-,p1 y ap-
pears as a..fae-tor; we eau reduce equation (9> to tin equation- bearing
the same relation to, (9)ý that (9) bears to (6). And io on, tili we arrive
at an equation, such as (9), in which the indices, siich as, 13-À, &c.1
are ail equal to one another. Let the resuit obtained when thie point
is reached Le,

1- k k--k 8-hi
(X-0a) (X-'è) ....(X- Ps ) X5 .

From this, since the. numbers, 1,, kc,..... 8, are equal to. one another,
we. get, by continuingthe reduction,

(X - 0ý) (X4' 0 ). (X - P8 )X 6 ;

X6 being a rationai expression: which, since the nuinber of its fac-
tors, -p,,x-0, , &c., is less than s9, and sincef (p) is supposed to
Le in a simple ferra, is (Cor. I) impossible. Hence X, 13, &c., in (6>,
ave il equal to one. anether; and therefore oaci of the teËtrs ,

Pày...., j Oâ., must~ recur ia (1) the saine -number of tinies.
Cor. 3. Iuf () let certain surds, y, , y2 , &c., (in whieh series of

terms, as was pointed out in Def. 7, ail the subordinates of any surd
mentioned are included), bave deflaite values assigned, te them; and


